0

AlIvay
YIHNVE TIIMATOD

*O77 LYN Aq pajesadQ pue paumQ “Jexjiew ay) u AAoE ajejsa
ea |[e 10a}ja1 Jou Aew s,STW au) Aq paurejuiew ejeq *Aoeinode ejep ) aajuelend Jou saop abelaxolg [EfuspISaY Jayueg [[aMp|oD ‘ei0jaIay | ajeindde Ajajajduwiod aq jou Aew pue [euoiewojul Ajuo si ejep siy) ‘Aoijod Buiodal sjgemoje pue spoyjew Buiodal STW 0} 8N "D 1B BjelsT [eay 1SAMPI WO UOJEWLOJUI UO paseg

891 %V'96 %S 1S %086 %0l L %L20L %98 6L %0720l %0720L 98ZCTve $ €SS'S€E  $ %9VZT  %9'E %S"0 %1€
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/ e/u e/u
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/ e/u e/u
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/ e/u e/u
- %00 %0 - %00 %0 Ll %ZL6  %00) L %CL6  (%Z’L6 | 00S'2G.  $ 000'6.L $ %O00SL %00 %00 %0°0
- %00 %0 - %00 %0 6 %E¥0L %001 6 %EY0L  %EPOL | ¥S9°269  $ 891899  $ %0'SZL %00 %0°0 %0°0
- %00 %0 Y9  %LL6  %0€ ] %6°10L  %0L €2  %L'86 %.L66 | 69EL.S  $ 0SL'€LS  $ %00L %0O0L %00 %00}
002 %.'96  %E GG %6'G6 %l . %120l %E8 0Z %L'L0L  (%EL0L | S0Z'.SF  $ €8TUSY  $ %9.T %00 %00 %0°0
- %00 %0 LS %000k %S . %0°€0l  %S6 6 %820l %87T0L | L/S'06E  $ | L[6'6LE  $ %ELT %SV %0°0 %S ¥
80l %L'€6 %0l v %6'G0L %8 . %1L°€0L  %E8 0Z %ET0L %920L  +z8'lee  $ 0/€'62€  $ %OSL  %ST %00 %ST
76 %EEC6  %E 6V %996  %E 9 %2 €0l %S6 6 %820l %0'€0L | CEV'68C  $ | L6'08C  $ %SLL %00 %00 %0°0
€8y %EVLL %S Y€ %ZL6 %0l 8 %210l %98 €€ %SL0L  (%6'00L | 6.9'GEC  $  LGG'€ET  $ %06l  %S6 %8 %8’
¥Gl  %Y'G6 %6 €6 %L66 %8l 8 %Y 0L %EL 06  %9720L %L'€0L  2G9'L6I $ ¥98'G8L  $ %SV  %L6 %00 %16
- %00 %0 8y %000l %02 € %010l %08 2L %800L %800L 08¢zl $ 08L22k $ %00Z %00 %00 %0°0
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/u e/u e/u
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/u e/u e/u
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/u e/u e/u
- %00 %0 - %00 %0 - %00 %0 - %00 e/u - $ - $ eu e/u e/u e/u
Woa  oney PIoS  WO@  ouey pIosS  WOa@ = ouey PIS b og pajybiam A oo oo uedlad  sbuisoy  sbuisoly  sBuisoy
Bay  d1/ds  sBunsiiy%  BAY  d1/dS  sBunsi%  BAY  d1/dS  sBunsiy ‘Bay | UoN S T T sbupsiy 0% 10% 0%

sAeq +06 sAeq 06 - L€ sfeq 0g- 0 2911d 17 / S3[es Y% ‘BAy pajeq Isially  9es Hoys o

S9|eg JO syjuouw-¢ }se| uo paseq - sishjeuy 06 / 09 / 0S ejep pajle4 pue sajes Jo Syjuow-¢ }se| uo paseqg

€202 - dunr jo se
Hoday jaxiep

€2¢0¢/LIL

S61

(013
6¢
[44
oy
oy
14
[44

sbuiso|n
‘Ol € 3s€T

90
70]
70]
70]
N
e/
90
70
(3
70
€0
€T
1’0
e/
70]
e/
e/

ISN

soouqbuljog :A)1D INHMLIopuoD|HdS :sedA ) “doid = ¥31114

%S'G9  S6
e/u -
e/u -
e/u -
%GC9 G
%00 -
%C69 6
%009 6
%Yv'6S @ 61
%8'LL )T
%L99 @ 0L
%609 Pl
%EE | G
%0°00L |
%0°00L ¢
e/u -
e/u -
e/u -
m“__wﬂzmn_ sBulpuag

JoMI. I\ JUaLIND

0S

- 0O ©O© MmO O T MO oM
~

sbups
anpoy

Iv.LiOL
INO'Z$ <
INO'Z$-INS'L$
NS L$-INO'LS
INO"L$-MLSL$
M0S$-1109%
009$-1105$
M00S$-M10P$
MO00V$-MISES
M0SES-NL0ES
M00€$-M15T$
M0SZ$-M102$
M00Z$-M1IS1L$
MO0SE$-MLO0LS
M00L$-19.$
NSL$-MLS$
M0S$-119Z$
MGT$ =>

dld

s



